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QID : 1 - In the following question, select the related word from the given alternatives.

Leaves: Rustle::?:?

AT ea & U 970 fasheul & & Heiftie ereq 1 YT

o

Options:

1) Rain : Jingle

s : FegieEe

2) Tyres : Sizzle

T : TeToellge

3) Clouds : Thunder

Sl @ ITSITSTEC

4) Snow : Drizzle

I : §aT e

Correct Answer: Clouds : Thunder
Sl @ ITSITSTEC

Candidate Answer: [ NOT ANSWERED ]

QID : 2 - In the following question, select the related word from the given alternatives.
Phycology : Algae::?:?

T eaT & 1T 970 fasheul & & Heiftler 2req &1 =10

Options:

1) Eccrinology : Amphibians
1T JHT fFaTeT: 3HTR

2) Selenography : Secretions
wigapaer fremme : aRoT-fra
3) Haematology : Blood
R oot @ &

4) Entomology : Soil
Fre faareT : AEr
Correct Answer: Haematology : Blood

R G @ &
Candidate Answer: Haematology : Blood

R faaeT : &

QID : 3 - In the following question, select the related letters from the given alternatives.
RVLP : SWMQ: : GLKP : ?
TrATafad e  fow 1e fashedt & et 37eRT i v

RVLP : SWMQ:: GLKP: ?
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Options:
1) HQLM

2) HMST
3) HMLQ

4) FKSQ
Correct Answer: HMLQ
Candidate Answer: HMLQ

QID : 4 - In the following question, select the related letters from the given alternatives.
EFGH:131J:: ADMN:?

Frafaf@a e # e e fwredt # @ Fefta ant @ g

EFGH:331J:: ADMN:?

Options:

1) FFFF

2) FHPP

3) HHHH

4) FHOO
Correct Answer: FHPP
Candidate Answer: FHPP

QID : 5 - In the following question, select the related number from the given alternatives.
3:30::7:?

fefaf@a yea # U a1v fashedl # § Hefeid HE&a1 1 0|

3:30::7:?

Options:

1) 310

2) 320

3) 340

4) 350
Correct Answer: 350
Candidate Answer: [ NOT ANSWERED ]

QID : 6 - In the following question, select the related number from the given alternatives.
11:121::111:?

rAfaf@d e & fow 1w fashedt # & Gefta dear & giav)

11:121::111:?

Options:

1) 1234

2) 2314

3) 12321

4) 12421
Correct Answer: 12321
Candidate Answer: 12321

QID : 7 - In the following question, select the odd word from the given alternatives.

TFTad 92T & foU 910 fashout & & fawe oree &1 YT
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Options:
1) Mercury
qRT
2) Gold
T
3) Silver
ter
4) Copper
GIEN
Correct Answer: Mercury
IRT

Candidate Answer: Mercury
IRT

QID : 8 - In the following question, select the odd word pair from the given alternatives.

PrATafad gea  fow 1w fshet 7 & fawe orse 9o 1 Yiaw|
Options:

1) Head : Brain

(T : ATETSH

2) Hand : Wrist

T : Fells

3) Arm : Shoulder

8T - e

4) Feet : Ankle

& : @

Correct Answer: Head : Brain
T Afeass

Candidate Answer: Head : Brain

X ; AT

QID : 9 - In the following question, select the odd letters from the given alternatives.

rAfaf@a e & faw a1e fashedt 7 & faws ert #r giaw]

Options:

1) CX

2) HS

3) BY

4) JP

Correct Answer: JP
Candidate Answer: JP

QID : 10 - In the following question, select the odd letters from the given alternatives.

TFTTed eaT & foU 970 fasheul & & fawe 3R &1 v

Options:
1) PU

2) SW
3) CG

4) KO
Correct Answer: PU
Candidate Answer: PU

QID : 11 - In the following question, select the odd number pair from the given alternatives.

e 9o & U 910 fashout & & fave dear goa &1 giav|
Options:

1)422-8

2)382- 18

3)718-16

4)318-12
Correct Answer: 382 — 18
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Candidate Answer: [ NOT ANSWERED ]

QID : 12 - In the following question, select the odd number pair from the given alternatives.

T 9o & U 910 fashout & & faws dear oo &1 giav|
Options:
1) 64 — 109

2)36-83
3) 42 - 87

4) 102 - 147
Correct Answer: 36 — 83
Candidate Answer: 36 — 83

QID : 13 - Arrange the given words in the sequence in which they occur in the dictionary.

1. First
2. Frown
3. Fist
4. Fast
5. Floor

frAfaf@a ersel T ereeahier # e arel A & IR fog|

1. First
2. Frown
3. Fist
4., Fast
5. Floor

Options:
1) 13542

2) 41523
3) 41352

4) 13452
Correct Answer: 41352
Candidate Answer: 41352

QID : 14 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Hinge
2. Homely
3. Hanger
4. Hasten
5. Howl

TFATAT ereel T Asghier #H 3= aTel he & AR fordd|

1. Hinge
2. Homely
3. Hanger
4. Hasten
5. Howl

Options:
1) 34152
2) 12534
3) 34125

4) 31425
Correct Answer: 34125
Candidate Answer: 34125

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 4/66



8/1/2017 Staff Selection Commision
QID : 15 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
R,MIFD,?
T 31efhe T I B, Fd & Uk Ug ofed B faT 1w fashedt A & a8 @€ [shew AT, S seha S Q@
R,MILFD,?
Options:
1)B
2)C
3)A

4)E
Correct Answer: C
Candidate Answer: C

QID : 16 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
KI MI ol QI ?

Teh 37eThe ToT I, TS a & Ueh Ug; ool ¥ fw 10 fasheut A & a8 @ [ashed giaT, S 3efsha S @ A

KI MI ol QI ?

Options:

1T

2)R

3)S

4)U
Correct Answer: S
Candidate Answer: S

QID : 17 - In the following question, select the missing number from the given series.
3,10, 24, 52, 108, ?

Frafaf@a e 7 T v fashedt 7 & qed 37 #A1d AT

3,10, 24, 52,108, ?

Options:

1) 180

2) 190

3) 210

4) 220
Correct Answer: 220
Candidate Answer: 220

QID : 18 - In the following question, select the missing number from the given series.
1,4,15,64,?

frafaf@a gea # faw 1w fsredt # & qed 37 w1d A

1,4,15,64,?

Options:

1) 285

2) 315

3) 325

4) 375
Correct Answer: 325
Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 5/66
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QID : 19 - Rakesh is 6 ranks ahead of Tanvir in a class of 42 students. If Tanvir's rank is eighteenth from the last, then what is Rakesh's rank from the start?

42 BTAT T T FHETT H AR, TTAR T 6 TATT 3T & I TR A T HSREd TATT TR g, AT IheT T TATA 3T T FIT gTT?
Options:

1) 14t

14 ar

2) 15th

15ar

3) 19th

19 &

4) 17t

17 &

Correct Answer: 19t
19 ar

Candidate Answer: 17t
17 ar

QID : 20 - Aman is 3 years older to Rohit and 3 years younger to Suresh, while Rohit and Danish are twins. How many years is Suresh older to Danish?

¥, e @ 3 9 o137 § 2 QYT & 3 ¥ oler B, Stafen Qg ar arfarer spgar 1 ger, arforer & frae ad a7 82

Options:

1)3

2)2

3)6

4) 12

Correct Answer: 6
Candidate Answer: 6

QID : 21 - Aman, Rohit, Suresh, Danish and Alok are arranged in descending order of weight. Aman‘is third from the top. Alok is between Danish and Aman while
Danish is not at the top. Who is at the top?

31T, M, R, ST TUT HATelh T HR o T G S A AT ohaT 12T § | AT SR A AR &1 3Telleh; ST T 33T & 7ET A ¢, eIl griear Fod IR
FET §| TIH FI HieT g7

Options:

1) Aman

HHAT

2) Rohit

Afga

3) Suresh

Riksll

4) Cannot be determined

AT G fRaT ST Fehal

Correct Answer: Cannot be determined
AT A&T T ST Hhar

Candidate Answer: Cannot be determined
AT AT R ST Fhar

QID : 22 - In the following question, select the word which cannot be formed using the letters of the given word.

Separated
AT faehedl 7 & gg Ueg AT SiY T 31T Arse; o R T TLIT eh 6T AT ST HehelT|

Separated
Options:
1) Rate

2) Repeat
3) Seat

4) Pirate
Correct Answer: Pirate
Candidate Answer: Pirate

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 6/66
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QID : 23 - In the following question, select the word which cannot be formed using the letters of the given word.
Gossiping
AT faehedl 7 & g8 2Ieg AT it TGT 1T ree; oh R T TLIT Feh 6T AT ST HebelT|

Gossiping
Options:
1) Soap

2) Ping
3) Going

4) Gossip
Correct Answer: Soap
Candidate Answer: Soap

QID : 24 - In a certain code language, "BLAMED" is written as "DOEGHP" and "DISECT" is written as "VLGWFH". How is "POLARY" written in that code
language?

% fafrse Fg $T9T &, "BLAMED" &t "DOEGHP" for@r Sirar § aar "DISECT" &Y "VLGWFH" far@r Siiar §1 30 ig #19T & "POLARY" &I fFd y&R for@r sireem?

Options:

1) QPMBSZ

2) ORSBUD

3) DBVSRO

4) KNOCQz

Correct Answer: ORSBUD

Candidate Answer: [ NOT ANSWERED ]

QID : 25 - In a certain code language, "HIM-ACE" is written as "21". How is "SIP-TAG" written in that code language?

s faftrse Fg s9T 7, "HIM-ACE" &l "21" for@r SITaT §1 39 i 89T & "SIP-TAG" & fha yehR forr siream?

Options:
1) 12

2) 16
3) 14

4) 19
Correct Answer: 16
Candidate Answer: 16

QID : 26 - In the following question, correct the equation by interchanging two numbers.
5+3+6%x9-2=21
Trafaf@a ura &, AT ar TEITHT FI 39T H Seoa QU T THTHIOT FHI TET HIToTT

5+43+6x9-2=21
Options:

1)5and 9

5dur9

2)3and 6

3dur6

3)6and 9

6 dur 9

4)5and 3

5dur3

Correct Answer: 3 and 6
3duT6

Candidate Answer: 3 and 6
3dur6

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 7/66



8/1/2017

QID : 27 - If "A" denotes "divided by", "C" denotes "subtracted from", "D" denotes "added to" and "B" denotes "multiplied by", then

15A3D24C12B2=7?

Staff Selection Commision

T A" T 3 T, "C T 3 TR ¥, D" T 3 "Ss § T 'B b 3re e ¥,

15A3D24C12B2=7?
Options:

1)5

2)9

3)3

4)7

Correct Answer: 5
Candidate Answer: 5

QID:28-1f62% 22~ 32=41and 72 % 52~ 22 = 28, then 52% 322 12=?

a8 629% 227232 =41qu72% 527222 =28%, @52%32~212=?

Options:

1)17

2) 22

3)13

4) 26

Correct Answer: 17

Candidate Answer: [ NOT ANSWERED ]

QID:29-1f6A11B33=18and4B18A9=8,then3A5B35="7?

JC6A11B33 =18 aM4B18A9 =88, dI3A5B35="?

Options:

1) 12

2) 25

3)21

4) 18

Correct Answer: 21

Candidate Answer: [ NOT ANSWERED ]

QID: 30 -

In the following question, select the number which
can be placed at the sign of question mark (?) from

the given alternatives.

oo v # & 77 fooeur # 8 uw fee

(?) & TUH W HE arell g7 @ JEAT)

1 4 5 8 9
10 i 14 11 12
Options:
1) 13
2) 14
3) 15
4) 16

Correct Answer: 15
Candidate Answer: 15

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c
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QID:31-
In the following question, select the number which

can be placed at the sign of question mark (?) from
the given alternatives.

et us # B o7 foreur & @ uw e
(?) & TAT T HA drel TSI H JAT

7 7 3
[4]16]3] [5[19]6] [8]7]7]
2 1 4
Options:
1) 20
2)21
3)22
4) 24

Correct Answer: 22
Candidate Answer: 22

QID:32-
How many triangles are there in the given figure?

& wE st # e RET

Options:
1) 10

2) 12
3) 14

4) 16
Correct Answer: 12
Candidate Answer: 12

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 9/66
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QID:33-
How many quadrilaterals are there in the given
figure?

& 7 e # e aghe ¥

7

N

Options:
1) 15

2) 18
3)19

4)21
Correct Answer: 18
Candidate Answer: [ NOT ANSWERED ]

QID : 34 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some pens are glass.
II. All glass are wall.

Conclusions:
1. Some wall are pens.
II. Some wall are glass.

A T 91T Gedh Ueat H Fo e 3R Iefeh dle 3 HYell R IR F& fasehe o0 70 &, gTelifen 3a21 WA A a2di § Fewrargr Fehchl &1 Tl fassy o¢ 3R
T el Y & fw 910 it & s, feT 1T heral o 3R W FiFadard &

Yo
L. $& UeT 7o B
I1. T8fY vomd AR &1

sy

L F& AN 91 &l

I1. & §aR T4 |

Options:

1) Only conclusion (I) follows

hae fsey (1) TEr &

2) Only conclusion (II) follows

hae oy (11) T8 §

3) Both conclusion follow

Xl &Y forshy T ¥

4) Neither conclusion (I) nor conclusion (II) follows
& ar sy (1) 31 o7 & sy (1) adr &
Correct Answer: Both conclusion follow

Xt &Y forshy T §

Candidate Answer: Only conclusion (I) follows

ad forsay (1) §er &

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 10/66
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QID : 35 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some beautiful are intelligent.
II. All intelligent are daughters.

Conclusions:

1. Some intelligent are beautiful.
II. Some daughters are intelligent.
III. Some beautiful are daughters.

A T 1T Gedeh et H Fo YA 3R Iofeh dle; 3 HYell R IR F& fAsehe 8w 970 &, gTeiifeh 3772 FAT A1 a2 § fewtar &1 Fehell &1 Tl fovssny o¢ 3
T TefiRer Y & fow 970 shler & forsen, fow 1T sherail o 3TN W) FiFerard &1

HYe:
1. $5 e e &
I1. &l gigamer afear €1

fosHy:

L 35 T e 81

1L Fo& afear gigame &

111 F& gex afear g1

Options:

1) Only conclusion (I) and (II) follow
hael sy (1) qar fAswy (1) @ &
2) Only conclusion (I) and (III) follow
Fael sy (1) Tur sy (110) @@ §
3) Only conclusion (II) and (III) follow
Fael sy (1) T sy (II1) T&r &
4) All conclusions follow

oY TvHY TR §

Correct Answer: All conclusions follow

et vy TEr §

Candidate Answer: Only conclusion (I) and (III) follow
gl sy (1) g2 sy (II1) T &

QID: 36 -

From the given options, which answer figure can be
formed by folding the figure given in the question?

Rt Rwedt & ¥ @ W 39T ety uA
# & ¢ EE P AshT TS I ThAT &7

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 11/66
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Options:
1)

.4

z

=]

;/'

Correct Answer:
ikt
-~ R

P

4""

X

Candidate Answer:
" R

P

;/J

X

QID:37-
From the given options, which answer figure can be
formed by folding the figure given in the question?

e fAeea & @ Fla @ 393 g v
# & 1 3Py F AR =S I T ¥?

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 12/66
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Options:
1)

a)
-

Correct Answer:

H

Candidate Answer:

A

QID: 38 -

In the given figure, which Roman numeral represents
the angry kings who are fat?

& w3 ey & Fla @ De e 14 AT
T=matt S T € @ e B

M <+— Angry/spref

Heavivs]
- VI e Kings/T=T

Options:
1)V

2) IV
3) VI

4)11
Correct Answer: IV
Candidate Answer: 1V

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c
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QID:39-
In the given figure, how many white apples are there?

& o8 gl A, froer @ 99 &2
White/ [ 1
-~
i / >\\T 43\'\ Apples/
/3236 J«—
/o &/

Sweet/HraT

Options:
1) 37

2)73
3) 36

4) 88
Correct Answer: 73
Candidate Answer: 73

QID: 40 -
In the given figure, which humber represents cold
drink which is black and sweet?

& TS AT A FiT W FF UET Svsr O S
HTT qAT MaT &, FY AT

f\\<— Black/errem
Drink/ 13°
[ : Sweet/
o ‘}Fg \
1/ 2 4 7\8 —‘10 T_ Hrat

/ 3 | 5\6 /
.11\‘12/

-

Cold/aust

Options:
1)4

2)8
3)7

4)6
Correct Answer: 7
Candidate Answer: 7

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 14/66
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Staff Selection Commision

Which answer figure will complete the pattern in the

guestion figure?

Fia T 39 HFia U Hgia & ufawT &t o

L

Options:

[y
—

ﬁ

N
-

W
-

er:

7 A 7

Candidate An.

Z

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c
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QID:42-
Which answer figure will complete the pattern in the
question figure?

Hle " TR AP TH FFd & IART & G

FL?
7
Options:
1)
2)
3)
4)

Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 16/66
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QID:43-

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& % 3R R # ¥ 3W W A @ ghaw
o & wy ampla BT &

7

Options:
1)

/
2)
3)

—

,/

4)

Correct Answer:

4

Ve

Candidate Answer:

4

Ve

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 17/66
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QID: 44 -

Staff Selection Commision

From the given answer figures, select the one in

which the question figure is hidden/embedded.

& o% 3R agpfaEl # ¥ 3@ =R el @ gfaw

S & un sl @fea B

Options:

1)

(]

2)

3)

4)

<14 {LC

Correct Answer:

vad

Candidate Answer:

vad

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c
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QID: 45 -
A piece of paper is folded and punched as shown
below in the question figures. From the given

answer figures, indicate how it will appear when
opened?

@ & uH A # REm 3gur Fee &
HATEHT B JAT Wil & d1E I [FE T ATEA
s s geme

Options:
1)

N
-

W
-

H
=

=) =] (£ E

Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 19/66
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QID: 46 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@9 & gy WA #A @ 3gEr e #
AT Sea IA o & 98 g€ RE 39T P
sar e geme

(&

Options:
1)

2

~

3

—

4

=

VY

Correct Answer:

e

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c 20/66
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QI

D:47-
If a mirror is placed on the line AB, then which of the

answer figures is the right image of the given
figure?

IfE T ZUUT & AB T W @ AW, O & TS
I AT # T BT & He™ Uy AeE A
e ufafasa gefe

[s+]

Options:

1)

2)

3)

»
~

Q| @ D] @

Correct Answer:

&

Candidate Answer:

&

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c
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QID: 48 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg Tk IqUT F AB W@ WX @1 AT, af & TS
I FplaaT # T AT & e uy el &
mer ufafess gefre

A B

Options:

1)

2)

3)

4)

o |8 P @

Correct Answer:

©

Candidate Answer:

©
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QID:49 -

A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the alternaftives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘G’ can
be represented by 13, 44, etc, and ‘F’ can be represented by 67, 86, etc.
Similary, you have to identify the set for the word “MICE”.

TH g $I0 T GE-GAE g1 gutan r & oar B Rwed # &
el v & R = R Roedt & Ry v swawep sawl @ gat
grr gufe e E, Star B Re ow & st & ) wnege & wew iR
afth i GET0 A 4 & 3N IwgEl B 5 91 59 IR A TH HEW A
ure 3ad Ofth AR aig A e G gRT @R A1 whar 1 SR
& forw ‘Gr @1 13, 44, i GRT ETET FT FHAT & T@W F @ 67, 86,
g a1 guiar S @aar &1 s ote & Ut ww & B weg "MICE”
& OT |9 & W

Matrix-I Matrix-l

s e
011|234 5/6(7]|8]9
Ol |GIM|N|E 5|/F|E[A]|C]|D
1TIN[E[DT]|G|M 6|C|D(F|E|A
2ZIGIM|{NJE] I TIE|A|C|D|F
3|E|]1|G|M[N 8|ID|F|E]A|C
4 |M[N | Ejulac LA/ C|D|F|E

Options:
1) 14, 24, 65, 68

2) 41,12, 78, 75
3) 22, 43, 96, 87

4) 03, 31, 57, 56
Correct Answer: 14, 24, 65, 68
Candidate Answer: 14, 24, 65, 68
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QID : 50 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternafives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matnces can
be represented first by its row and next by its column, for example, ‘E’ can
be represented by 11, 42, etc, and ‘N’ can be represented by 65, 88, etc.
Similarty, you have to identify the set for the word “GRAND™.

T e Fael Uh HEA-HHE GRT GUIAT TN §, SR fF faseut A &
forelt wn & 2 ) Reedt & Ry ow dwaradp Hent 6 @ gt
grr gute arw ¥, otar B fgw o ) amegEl @ ¥ sneged ¥ weer s
afis iy Fear 0 & 4 ¥ 3 sneggdl Y 5 F 91 5 MRt d T AW
uge Iad Ofte 3R aig F TOFe TEAT R SR ST FhaT §1 SERA0
& faw B @ 11, 42, 3fe gry gatar =1 @ear & @ ‘N- & 65, 88,
i gRI AT S @hAT B OSHI e @ Hun uw # Ru weg
“GRAND” & T wWag &t Tea== I

Matrix-| Matrix-1I
Bl E ]
0[1]2[3]4 5(6]7]8]9

0[E[G|K[C[R 5[S|D|N|A|O

T|C|E[R|K[G 6| N|[A[D|O|S

Z|G|K|C[R|E [TIO[S[A[D[N

3[R|C|G[E|K B|A|O|S|N|D

1| K| R | Efodl gIDIN[O|S|A

Options:
1) 01, 12, 58, 65, 56

2) 43, 41, 85, 88, 98
3) 20, 23, 66, 95, 89

4) 14, 04, 99, 57, 68
Correct Answer: 01, 12, 58, 65, 56
Candidate Answer: 01, 12, 58, 65, 56

QID : 51 - Planned economy in India is based on which system?

IR & Aofeleg Tcgae fhyg ggia o 3meRd &2
Options:

1) Capitalist system

Joftardr saaear

2) Traditional system

IR sTaear

3) Command system

3R cFaer

4) Socialist system

HATSATET STTEAT

Correct Answer: Socialist system
HHTSTATET cTGEAT

Candidate Answer: Socialist system

HATSAET cATEAT

QID : 52 - Planning Commission was constituted in India in which year?

AR H IISTTT 3TANT T ST v a¥ & fohar I ar?
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Options:
1) 1947

2) 1950
3) 1949

4) 1952
Correct Answer: 1950
Candidate Answer: 1950

QID : 53 - Which one of the following pair is incorrect?

PrAfaf@d # @ e a1 v g7a ag) 71 82
Options:

1) Fifth Five Year Plan — 1961-66

gierdt daastT QT — 1961-66

2) Eight Five Year Plan — 1992-97

3TTsdT Taa¥iT QST — 1992-97

3) Eleventh Five Year Plan — 2007-12

TIREAT GaauT JStAr — 2007-12

4) First Five Year Plan — 1951-56

Tgoil Taa¥ig Iietelr — 1951-56

Correct Answer: Fifth Five Year Plan — 1961-66
giadi daayi AT - 1961-66

Candidate Answer: Fifth Five Year Plan — 1961-66
giadt TaaytT AT - 1961-66

QID : 54 - How many Miniratna companies are there in Category — II?

Aoft — 11 7 frael fAeiReeT Hufaar &2
Options:

1)17

2) 15

3)13

4) 16

Correct Answer: 15

Candidate Answer: [ NOT ANSWERED ]

QID : 55 - GNP — depreciation allowances =

S, T, OY. — TR e =
Options:

1) National Income

TS 3T

2) NDP

Tot, Y. O,

3) NNP

T, T, 1.

4) GNP

St g, T

Correct Answer: NNP
T, T, 1.

Candidate Answer: NNP
ToT. T, OT.

QID : 56 - When power is shared among different organs of government, then it known as

9 TR F 3@ 3731 & I GedT 7 dearT &, ar 39 gl ST &
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Options:

1) Community Government

T TR

2) Separation of powers

SR &1 faazor

3) Coalition Government

IS AIHR

4) Amalgamation of powers

3RIFRT 1 TehRoT

Correct Answer: Separation of powers
NIRRT &1 faaRor

Candidate Answer: Amalgamation of powers

3TTOFRY T ThHoT
QID : 57 - Which of the following is CORRECT about coalition form of government?

fFafaf@d 7 ¥ Fla a1 TToat WER & IR # TqEr 8l

Options:

1) Sharing of power at different levels

Fafdet TR W Fear $r aierd

2) Sharing of power by different social groups

Taffes aranforen wagh & & Hear & aEiey

3) Sharing of power by two or more political parties

&l T 318 gell & & Hed ST ATSIERT

4) None of these

ST q IS AGT

Correct Answer: Sharing of power by two or more political parties
& T 318 gell & & Hed S ATSIERT

Candidate Answer: Sharing of power by two or more political parties

ar a1 3178 galt & i Fedr Y TSERY

QID : 58 - Which type of government is based on free and fair election where those currently in power have a'fair chance of losing?

T3 ThR 1 TR forsdeT TAT Facid gelral OX TR Il & o188 deehlellel HeaTtRET & gRe &1 fosat 3fa sav g
Options:

1) Democratic

CIETIEED

2) Autocratic

faeer

3) Monarchic

RERECIC

4) Authoritarian

KIBEarGIc

Correct Answer: Democratic

EIEGIEED

Candidate Answer: Democratic

EIEGIEED

QID : 59 - What is the minimum age required to become a member of Rajya Sabha?

TSI T T Sofed & TeIT #ATH 3T T gledl TMgT?
Options:

1) Twenty years

&g av

2) Thirty years

oy

3) Twenty-two years

arsH af

4) Twenty-five years

=g ay

Correct Answer: Thirty years
a3 v

Candidate Answer: Thirty years
oy
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QID : 60 - Since Independence, how many time National Emergency has been declared in India?

AR & TGl o ST fohelell SI) IS JTTCTehIT STI] 81 YehT &2
Options:

1) One time

TUsh IR

2) Two times

arax

3) Three times

GIGKCIRY

4) Four times

IR I

Correct Answer: Three times

GIGEIES

Candidate Answer: One time
Teh dX

QID : 61 - Who among the following presides over a joint sitting of both the houses summoned by the President of India?

AR & Togufd SIRT GolTS a6 HYFel doeh Y AT el & & slet e 82
Options:

1) Chairman of Rajya Sabha

TIGHT &7 Ferafa

2) Speaker of Lok Sabha

R TETET

3) President of India

AR & Igafa

4) Prime Minister of India

R & TUTFHAT

Correct Answer: Speaker of Lok Sabha

AR 37ETET

Candidate Answer: Speaker of Lok Sabha
ATRTHT 3ETeT

QID : 62 - For how much time the Presidents Rule can be extended in India with the approval of Parliament in every six months

Tedeh o HEI H TG T TIpict olehs ASelcl AT HTEhcrd fohclel HoT & ToIT SGTaT ST Hehell &2
Options:

1) 6 months

oF HEI

2) 1 year

Teh ATl

3) 2 years

ar et

4) 3 years

GIGE;IC)

Correct Answer: 3 years
GIGEICH

Candidate Answer: 1 year
Teh Hlel

QID : 63 - What is the minimum number of members required to be present in any one of the two houses of parliament for its functioning?

G & alell Heeil 3 U el U HaeT 3 eTc# fohclsl e glet 3ife1ard & fora® et 1 AT deldr 16?
Options:

1) One fifth of total members

ol FeEdT T Gferar T

2) One sixth of total members

Tl HeELT T DT HIAT

3) One seventh of total members

Fol HeTdl T il 1T

4) One tenth of total members

Fool FeE 1 aFal H1IT

Correct Answer: One tenth of total members
Fool FeTdT T &Hal T
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Candidate Answer: One tenth of total members
Fol FEEA T gHAT AT

QID : 64 - In Indus Valley Civilization, Kalibangan is famous for which of the following?

e arér Fogerr &, Frellsvn fFeAfaf@d # & fhas fov gfag 2
Options:

1) Rock cut architecture
T FEldly Y aregeher

2) Sea port

SeTE

3) Cotton cultivation

FHUATT FT Fr

4) Pottery

= ELC A

Correct Answer: Pottery
[GEERIE]

Candidate Answer: Pottery

IGEEDCIE]

QID: 65 -
Match the following.

IGEGICECGECIRE:EIGECIIE |

Monument / TR Ruler / @

1. Agra Fort a. Sher Shah
HTORT &1 TeRe RS

2. TajMahal b. Akbar
RICET Hhad

3. Purana Quila c. Shahjahan
Qe feen MTE=TET

Options:
1)1-a,2-b,3-c

2)1-b,2-¢,3-a
3)1-¢,2-b,3-a

4)1-¢,2-3,3-b
Correct Answer: 1 -b,2-c,3-a
Candidate Answer: 1 -b,2-c,3-a

QID : 66 - Who was the first Governor General of Bengal?

SIS & JUH IR Al hieT A?
Options:

1) Robert Clive

A€ FTST

2) William Bentinck

foas dFew

3) Warren Hasting

ane gRecTw

4) Col. Sanders

FaTol AT

Correct Answer: Warren Hasting
ane gRecTw

Candidate Answer: Warren Hasting

I gieced
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QID : 67 - Second battle of Panipat was fought between which two armies?

I T gfady w1sTs fohet &T 131 3 S ey iy &r?
Options:

1) Babur and Lodi Empire

STE 9T AT FHST

2) Babur and Rana Sanga

TSR AT [0 Fiemw

3) Akbar and Hemu

e AT 89

4) Akbar and Rana of Mewar

37X dYUT HATS & 0T

Correct Answer: Akbar and Hemu
e AT 8o

Candidate Answer: [ NOT ANSWERED ]

QID : 68 - Who among the following played an important role in Gadar Movement?

PFfafld 7 & el 6T JHaTelet 7 Ageaqur sifHe s oA
Options:

1) Shyamiji Krishna Verma
QATHSN FHUT AT

2) Lal Hardayal

oITell gXadTel

3) Bipin Chandra Pal

ofter ag arar

4) Vishnu Ganesh Pingle

fersoy aroter Rfarer

Correct Answer: Lal Hardayal
ofTell gXadTel

Candidate Answer: Lal Hardayal
ofTell gXadTel

QID : 69 - Which among the following imaginary line lies at 0° latitude?

fFafaf@d 7 & Hier I swredfas 3@r 0° 3eTier W FId 82
Options:

1) Equator

e Y

2) Tropic of Cancer

&k @T

3) Tropic of Capricorn

AP T@r

4) Prime Meridian

Al HEATET 3@T

Correct Answer: Equator
AET X@r

Candidate Answer: Equator
AT X@r

QID : 70 - Which among the following Indian river flows westwards and falls into Arabian sea?

AFfafad F & i dr R 7 afRaH ¥ 3R Igd § 27 3RS PR F AR 82
Options:

1) Narmada

Teer

2) Ganga

aam

3) Mahanadi

AT

4) Godavari

aierey

Correct Answer: Narmada

erer
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Candidate Answer: Narmada

etar

QID : 71 - What are the imaginary lines encircling the earth horizontally called?

gt I RISt & TATAY ORI YT ATel Fredierdh Y@M &7 Fgar &7
Options:

1) Latitudes

378T7eT

2) Longitudes

gena]

3) Isobars

FHEE Y@

4) Isotherms

FHATT @Y

Correct Answer: Latitudes
378T7eT

Candidate Answer: Latitudes
3r8T7eT

QID : 72 - From which of the following continent, all three latitudes i.e. equator, tropic of cancer and tropic of Capricorn pass?

frafaf@a # @ forg weredia & i aratier Yard 3rfe sre YT, % J@T a7 Had YT g1 ol 82
Options:

1) North America

Scddl ARG

2) Asia

ofrar

3) South America

EiaroT 3R

4) Africa

31finerr

Correct Answer: Africa

37TOReRT

Candidate Answer: Africa

31fkeRr

QID : 73 - Which of the following city is also known as 'zero-mile centre' of India?

Prafaf@a 7 & fra aet & AR $1 'Y Hiel g’ & 017 F & SAT AT 62
Options:

1) Jabalpur

ST

2) Allahabad

ERINEICY

3) Nagpur

AT

4) Delhi

e

Correct Answer: Nagpur
GIEISCY

Candidate Answer: Nagpur
AR

2
QID : 74 - Which of the following is an example of Ball and Socket joint in humans?

RFATATRT # A Sl AT ATAT 3 Teh diel AT Hiohe SATST HT Teh 3GIEI0T 87
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Options:

1) Wrist Joint
FellS & A
2) Hip Joint
FH T AT
3) Finger Joint
ot a1 s
4) Neck Joint
T T A

Correct Answer: Hip Joint
FFR T IS

Candidate Answer: Neck Joint

A T IS

QID : 75 - For which of the following a BT seed has also been developed?

rafaf@a & o v & e e & & i off el forar srar &2

Options:
1) Wheat
Z)EMaize
HeFehT

3) Cotton
Eaies)

4) Pulses
arel

Correct Answer: Cotton
Easies)

Candidate Answer: Cotton
HUTH

QID : 76 - Which of the following contains highest amount of Vitamin C?

rafaf@a F 3 frae faef@e d@r 6 amr gad 318 gidr 82
Options:

1) Capsicum

Rvarer AT

2) Tomato

CTHICY

3) Grape

3R

4) Lemon

A

Correct Answer: Lemon
Bir=y

Candidate Answer: Tomato
THIY

QID : 77 - Dolly was an example of cloned

STel Uk gl 7 3ereeor 2
Options:

1) Dog

iw—rﬂ

2) Cow

e

3) Sheep

Hen

125

0.

orrect Answer: Sheep

a

Candidate Answer: Sheep

&

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=MDIwNw==&appid=1368062d74107fc05177712c90c3885¢c

31/66



8/1/2017 Staff Selection Commision
QID : 78 - Which of the following is a cold blooded animal?

fFafaf@d 7 ¥ Fia ofia & arer J=ie 87
Options:

1) Ape

Crey

2) Mouse

kS

3) Snake

ara

4) Wolf

afgar

Correct Answer: Snake
ar

Candidate Answer: Snake

|

QID : 79 - Which of the following glands secret growth hormone?

fRrfaf@d & & Fie @ 3fY gfy rafer &1 Rama aelr &2
Options:

1) Adrenal

e

2) Pituitary Gland

Gy Tty

3) Gonads

ECOoIE)

4) Pancreas

JIGIRT

Correct Answer: Pituitary Gland
9y 7y

Candidate Answer: Pituitary Gland
Gy Tty

QID : 80 - Jet engine works on the principal of conservation of

AT EST & TRETUT & FAgid R H T B
Options:

1) Heat

£

2) Mass

ST

3) Linear momentum

@ F@aar

4) Angular momentum

HIOMT FAT

Correct Answer: Linear momentum
@ F@ar

Candidate Answer: Heat

EEll

QID : 81 - What will happen to the level of water in a vessel when a piece of ice floating in it melts?

Wﬁﬁﬁﬁ?mﬁwmmmmﬁmgmwwwﬁwm
Options:

1) Decreases

A I

2) Increases

3R g

3) Remains same

THTA I

4) First increases and then decreases
TEe FEIT AT R e gram

Correct Answer: Remains same

FHTT I
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Candidate Answer: First increases and then decreases

TES S&IT AT R Fe gram

QID : 82 - Which of the following quantity is a measure of inertia?

faFafaf@d 7 ¥ Fia I A7 T5cq &1 719 §?
Options:

1) Velocity

aifa

2) Acceleration

caroT

3) Mass

GeIATT

4) Weight

E2IES

Correct Answer: Mass
GeIATA

Candidate Answer: Velocity

aif

QID : 83 - The instrument used to study the laws of vibrating string is

T HYT N g AR & TAFAT 1 HeqTeT 37 & AT gEATer Getr B
Options:

1) Hydrometer

GagelcaHTaY

2) Sonometer

AT

3) Sphygmomanometer

TFAGIEATIY

4) Electrometer

Aegaardr

~9
Correct Answer: Sonometer

HiA#HRY
Candidate Answer: [ NOT ANSWERED ]

QID : 84 - Which of the following is/are CORRECT?

1. GUI - Graphical User Interface
II. VDU - Visual Display Unit
III. ALU - All Logical Unit

RArfaf@a F o sl aya wd /82

I. GUI — Graphical User Interface
II. VDU - Visual Display Unit
III. ALU — All Logical Unit

Options:
1)IandII
Iauril

2) I and III
IqurIII

3) Only III
ad 111

4) Only II
gl 11
Correct Answer: I and II
Iquril

Candidate Answer: I and II
Iaurll

QID : 85 - Which among the following is not a word processor?

fafEd 7 & Fia a1 vE 98 e T8 82
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Options:
1) Microsoft Word
ATSHIATTE I8
2) Word Perfect
s Whac
3) Microsoft Excel
AT TR
4) Word Star
CERSARY
Correct Answer: Microsoft Excel
ATSHIGTTFE TFAe
Candidate Answer: Microsoft Excel

ASHIATFE Tl
QID : 86 - In which of the following silicon is not used?

frfaf@a F & g & Aol &1 sugier 7g fhar siar &7
Options:

1) Solar Panels

HreR YeTer

2) IC manufacturing

3773 O & AT F

3) Optical glass

Jmafeswe Temd

4) Ink pen

TR oA

Correct Answer: Ink pen

TTET FHAHA

Candidate Answer: [ NOT ANSWERED ]

QID : 87 - Which of the following is used as control rods in Atomic reactor?

fArafaf@a # @ frgen suier ey ordt (RusreR) & e st & og B Sirar 82
Options:

1) Sodium

aifsad

2) Uranium

T

3) Graphite

DR

4) Boron

IRTeT

Correct Answer: Boron
IRTeT

Candidate Answer: Graphite

I

QID : 88 - Which of the following is used for the preparation of dynamite?

T%E, T o forw fraAfaf@a & & fraer 3uieT gar 82
Options:

1) Methyl alcohol

RS o

2) Iron oxide

TS HfoRaTSS

3) Nitro Glycerol

Aser TeamRie

4) Copper sulphate

FIIT Hethe

Correct Answer: Nitro Glycerol

ATser FTaericr

Candidate Answer: [ NOT ANSWERED ]
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QID : 89 - Which among the following is added to commercial nitric acid to make it coloured?

frafafld 7 ¥ fore caraa & Asfes 37 #1 Wi Hie & e 39 e Jrar 8?2
Options:

1) Carbon dioxide

FIaeT SEITFASS

2) Sulphur dioxide

How STS3HTFATSS

3) Colored impurities

Tt fAemae

4) Nitrogen dioxide

ATSEIoTe STF3iTFATES

Correct Answer: Nitrogen dioxide
BIEMEC RERIIC R EE

Candidate Answer: [ NOT ANSWERED ]

QID: 90 -
Match the following.

IGEGIGECGICIRE:EIGEG T |

National Park / 78T SaIwet Animal / STEaR
1. Kanha a. Rhinoceros
Feer =t
2. Kaziranga b. Tiger
ST are
3. Gir ¢. Lion
fig R
Options:
1) 1-c, 2-b, 3-a
2) 1-b, 2-3, 3¢
3) 1-b, 2-¢, 3-a
4) 1-a, 2-b, 3¢

Correct Answer: 1-b, 2-a, 3-c
Candidate Answer: 1-b, 2-a, 3-c

QID : 91 - Which among the following type of trees are also called as sun loving trees?

Frfaf@d 7 & Fi9T & YR & st 1 gIwerer S 93 ot aer e 82
Options:

1) Xerophytes

AEEE

2) Heliophytes

AN

3) Saprophytes

BRI

4) Halophytes

Tauifge

Correct Answer: Heliophytes

JANfeE
Candidate Answer: [ NOT ANSWERED ]
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QID : 92 - Which of the following is an air pollutant?

1. Water vapour
II. Carbon dioxide
III. Hydrogen Gas

T # @ ieT AT Ueh arg Ygeh §?

I. STefarsq

I1. e STS3TFASS
111, gT88ret= 3
Options:

1) Only I

hadl I

2) Only II

Fad 11

3) Only III

Faer 111

4) Both II and III

11 2T 111 gt
Correct Answer: Only II
Fad 11

Candidate Answer: Only II
Fadl 11

QID : 93 - Which among the following is an initiative proposed by The Ministry of Civil Aviation to make boarding pass and security check-in digital?

rafaf@a # @ e & AR 35570 Farery Ry aifer o qUT FR&T Ah-51 Hi Boled sl & fov wearad uge 82
Options:

1) Digi yatra

EEIRIED

2) Digi Udan

[ECiEEC]

3) Digi Sewa

[EGIEC]

4) Digi Yatri

[ESIEIED

Correct Answer: Digi yatra

IESIRIEN

Candidate Answer: Digi Sewa

[EEIREN

QID : 94 - Who amongst the following invented 'chronometer'?

Tafaf@a & & Fge 'Sre#dT & 3nfaser fhar?
Options:

1) John Harrison

SfeT gRET

2) William Harvey

o g

3) Friese Greene

Wit et

4) Robert Koch

I FT

Correct Answer: John Harrison

ST R

Candidate Answer: [ NOT ANSWERED ]

QID : 95 - 'Calibre' is related to which sport?

o 50 g @ Fafta §?
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Options:
1) Shooting
afen
2) Cycling
AgH T
3) Baseball
Sqarer
4) Golf
Meh
Correct Answer: Shooting
e
Candidate Answer: Shooting
o

QID : 96 - All souls day is a festival.

T WIS TR FI AR &
Options:

1) Buddhism

g ga

2) Jainism

ST g

3) Christian

1S ae

4) Muslim

STTH T

Correct Answer: Christian
&ars ae

Candidate Answer: Jainism

ST e

QID : 97 - Who is the recipient of Padma Vibhushan 2017 in the field of Art — Music?

frrafofa ¥ & Fler welid o & 817 3 2017 % o7 TI3TOT Urecehell 82
Options:

1) Vishwa Mohan Bhatt

faeg AgeT 71E

2) Vaishali Bisht

garrelr fase

3) Aruna Mohanty

3507 Algedl

4) K. J. Yesudas

&, S, Iger

Correct Answer: K. J. Yesudas

&, o, Igerd
Candidate Answer: [ NOT ANSWERED ]

QID : 98 - Who has authored the book 'The People's Maharaja' based on the life of Amarinder Singh?

AR g i Slael W IrenRa e ‘g foed HgRIeT e ford §2
Options:

1) Venkaiah Naidu

FHT A

2) Khushwant Singh

gerdd g

3) Ram Kamal Mukherjee

TH HAS FEA

4) Shri Vijay Kumar

A faer $AR

Correct Answer: Khushwant Singh
gerad g

Candidate Answer: [ NOT ANSWERED ]
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QID : 99 - Which country has dropped the largest non-nuclear weapon over Afghanistan in April 2017?

e gar & 3ni¥er 2017 # Jrhanferedrsl W) Fa faemeras R waAT] R PR 82
Options:

1) Russia

g

2) France

Wi

3) United States of America

TGl T IR

4) Syria

i

Correct Answer: United States of America
TGl T 3R
Candidate Answer: Syria

@i

QID : 100 - Under 'Muktijodha Scholarship Scheme', India will give 35 crore rupees to children of freedom fighters in .

FFISAT BTG ASTAT' & T TR & T Hellforat & Feai T 35 s T Zam|
Options:

1) Pakistan

qTfeREdTeT

2) Bangladesh

Saenger

3) Sri Lanka

Arerer

4) Nepal

arel

Correct Answer: Bangladesh
STeTCer
Candidate Answer: Sri Lanka

SrerepT

QID: 101 - If N = (V6 - V5)/(v/6 + V/5), then what is the value of N + (1/N)?

feg N = (V6 - V5)/(V6 + V5) &, dl N + (1/N) T A F3T 52

Options:
1) 10

2) 11
3) 12

4) 22
Correct Answer: 22
Candidate Answer: [ NOT ANSWERED ]

QID : 102 - What is the simplified value of (3 + 1)(3%2 + 1)(3* + 1)(38 + 1)(316 + 1)?

(3 +1)(32 + 1)(3* + 1)(38 + 1)(316 + 1) FT TXATHA AT FAT §?
Options:
1) (332-1)/2

2) (316 - 1)/2
3) (3%4- 1)/2

4) (318 -1)2
Correct Answer: (332 - 1)/2
Candidate Answer: [ NOT ANSWERED ]

QID : 103 - Which value among V11 + V5, V14 + V2, V8 + V8 is the largest?

V11 + V5, V14 + V2, V8 + V8 H Taw 31 TEAT HieT TT §?
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Options:

1) Vil + V5
2) V14 + V2
3) V8 + V8

4) All are equal

Fofy SRR &
Correct Answer: V8 + V8
Candidate Answer: [ NOT ANSWERED ]

QID : 104 -
(0.5)° —(0.1)° s
(0.5)° +0.5x0.1+(0.1Y

What is the value of

(0.5 (0.1

- ~ T T FAT &7
(0.5)* +0.5x0.1+(0.1)

Options:
1) 0.1

2) 0.4
3)0.5

4) 0.6
Correct Answer: 0.4
Candidate Answer: [ NOT ANSWERED ]

QID : 105 - How many positive factors of 36 are there?

36 & YeATcH 0TI fehclat &7

Options:

1)4

2)6

3)9

4) 12

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID : 106 - Two taps A and B can fill a tank in 10 hours and 12 hours respectively. If the two taps are opened at 10 a.m., then at what time (in p.m.) should the
tap A be closed to completely fill the tank at exactly 4 p.m.?

2T <Tel A T B, T ThT T aART: 10 T 12 B 7 $1 Fahel £ TG Gl ofal T 10 JaTesT (V. TH.) T il f&r S, at 81 4 3roRiest (1. TH.) R S T O 8- &
T 57T A Y e It (3TRTeT &) dg R &= TIfge?

Options:

1)2

2)3

3)1

4) 1:30

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 107 - Vijay and Sahil together complete a piece of work in 40 days, Sahil and Ranjit can complete the same work in 48 days and Ranjit and Vijay can
complete the same work in 60 days. In how many days can all the three complete the same work while working together?

ot e wnfee FAea ve &1 &t 40 fET 7 QU X Fad §, Aifed daT Tiid 38T 1 &1 48 T 37 0 Y T § 31X Wid aar o 346t & & 60 &t 3 qur &
Teho § | et AT e 38 @ @ fhae foat 7 O o w1 87

Options:
1) 16

2) 24
3) 32

4) 38
Correct Answer: 32
Candidate Answer: 32
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QID : 108 - The marked price of an article is 50% more than its cost price. If 20% discount is given, then what will be the profit percentage?

T aEq 1 3ifhd Hed 30F HT Hed A 50% 3w §1 I 20% Hr ge & S, ar arer wfaerd = grem?

Options:
1) 20

2) 25
3) 30

4) 50
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 109 - After giving 40% discount on an article there is still a profit of 20%. What will be the profit percentage when no discount is given?

Teh T T 40% T G 3 & 15 8T 20% T 1S Bl §1 BT o So¥ TR T T Sfcieres &7 gram?

Options:
1) 60

2) 68
3)78

4) 100
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

QID : 110 - The ratio of two numbers is 4 : 5. If both numbers are increased by 4, the ratio becomes 5 : 6. What is the sum of the two numbers?

&Y T T I 4 ¢ 5 | A Al TEATHT 3 4 1 g H AT, A 3T 5 2 6 8 A &1 AT LA P ey F2AT P

Options:
1)9

2) 18
3) 27

4) 36
Correct Answer: 36
Candidate Answer: [ NOT ANSWERED ]

QID: 111 - If 2A = 3B, then what is the value of (A + B)/A?

Ifg 2A = 3B, ¥ (A + B)/A T AT T §?

Options:
1) 5/4

2)2/3
3)5/2

4)5/3
Correct Answer: 5/3
Candidate Answer: [ NOT ANSWERED ]

QID : 112 - The average marks obtained by 180 students in an examination is 50. If the average marks of passed students is 80 and that of the failed students is
40, then what is the number of students who failed the examination?

Teh RIS A 180 BT & IR Teed A 3 50 §1 AT Sccliot ST & HRHA 3 80 & FAT HeJecoT BT & 3 31 40 &, T Gatr 7 refechof g ort Hr Fear
&

Options:
1) 90

2) 135
3) 100

4) 45
Correct Answer: 135
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Candidate Answer: [ NOT ANSWERED ]

QID : 113 - The average age of four members of a family is 32 years. If the age of a guest is included, then the average age increases by 12.5%. What is the age
(in years) of the guest?

T IRER & TR FeEdT 1 A 3G 32 a¥ &1 I vk Ay i amg @ enfPer R S @, o 3 3y 12.5% @ 96 S §1 31y i amyg (ast &) ar e
Options:

1) 52

2) 56

3)44

4) 12
Correct Answer: 52
Candidate Answer: [ NOT ANSWERED ]

QID : 114 - If the selling price of 318 articles is equal to the cost price of 212 articles, then what is the loss percentage?

318 a3 &1 fashd e 212 aEG3H & I Hed & SR g, A gier 1 fererd .am §?

Options:
1) 20
2)

33 1
3
3) 40

4)
33 2
3

Correct Answer:

331
3

Candidate Answer: [ NOT ANSWERED ]

QID : 115 - Profit obtained on selling an article for Rs 310 is equal to the loss incurred on selling that article for Rs.230. What will .be the loss percentage when
selling price is Rs 180?
310 &. & Teh a&] I d¥el G YT of1sf 230 &. H 38T a&] 3l d¥le] T YT gliel oh SIS &1 ETiel TTcIIcT AT g1 5T faisha Heg 180 . 812
Options:
1)
1
16 —
>

2)

162
3

3)

331
3

4)

33E
3

Correct Answer:

331

3

Candidate Answer: [ NOT ANSWERED ]

QID : 116 - P is 20% more than Q and 40% less than R. If value of Q is Rs 150, then what is the value of R (in Rs)?

P, Q & 20% 3ife & TUT R & 40% FH &1 Il Q T AT 150 . §, AT R & A (3. F) FAT8?
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Options:
1) 300

2) 320
3) 220

4) 250
Correct Answer: 300
Candidate Answer: 300

QID : 117 - The price of motorcycle depreciates every year by 8%. If the value of the motorcycle after 2 years will be Rs 84640, then what is the present value (in
Rs) of the motorcycle?

T Al WiSfhel & Aod 7 Tdsh a¥ 8% T 19 T &1 ATG 2 a¥ a16 Al ATSThel 1 {ed 84640 F. 1M, A AT HIThel T AT 7od (¥ H) FT §?
Options:
1) 90000
2) 102000
3) 110000

4) 100000
Correct Answer: 100000
Candidate Answer: [ NOT ANSWERED ]

QID : 118 - Diameter of a cycle wheel is 14 cm. A cyclist takes 30 minutes to reach a destination at a speed of 11 km/h. How many revolutions will the wheel make
during the journey?

TS ATl & IRRT HT =g 14 A7), &1 Asfher Irere 11 %.#r.qﬁﬁa@rmﬁrﬁwﬁmxmmﬁaﬁ%ﬁvwﬁmm%lamasﬁm:rmﬁmﬁaw
CELLELd
Options:
1) 12500
2) 15000
3) 17750

4) 20000
Correct Answer: 12500
Candidate Answer: [ NOT ANSWERED ]

QID : 119 - A bus left 60 minutes later than the scheduled time but in order to reach its destination 48 km away.in time, it had to increase the speed by 4 km/hr
from the usual speed. What is usual speed (in km/hr) of the bus?

U §8 A AR T & 60 fAete B S8 & feiehercll & elfeher 48 .. &Y 37del ITcied TATT T FHT H Tga=t o [oI0 3§ 39l Ty a1t & 4 .. gfey erer v
gig el usal| 9 T Q=g a1 (.. gie ver #) g2

Options:

1)9

2)12

3)15

4)8

Correct Answer: 12

Candidate Answer: [ NOT ANSWERED ]

QID : 120 - If a certain sum becomes 2 times in 7 years at compound interest, then in how many years, it will become 8 times?

I I YT Ushq g sATT T 7 TSt 2 I[=AT &1 STeh &, Al fohctet @t & @ 8 [T 81 Suai?

Options:
1) 14

2) 21
3) 28

4) 35
Correct Answer: 21
Candidate Answer: 21
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QID : 121 - A certain sum becomes Rs 1020 in 5 years and Rs 1200 in 8 years at simple interest. What is the value of principal?

IS HFITY AILROT 57T OR 5 a9 7 1020 &, FAT 8 At # 1200 F. g7 SACH & | FTET T AT 4T §2

Options:
1) 820
2) 780
3) 700
4) 720

Correct Answer: 720

Candidate Answer: [ NOT ANSWERED ]

QID: 122-

Staff Selection Commision

The bar graph given below represents the revenue of
a firm for 8 years. All the revenue figures have been
shown in terms of Rs crores.

#r R or gvs Ry & 15 H & 8 Tuf & T
H ERMAT AT §| UL F WY HeE I 5 A

Zma I E

400 -

350 3200
300 4 1 280

250 - ]
200
150
100
50
0 & .

Revenue (InRs crores)
[T (HAE F. H)

350

320

250

340

240

280

2009

2011

2013

Year | 9§

2015

What is the total value of revenue of the firm (in crores Rs) in years 2010, 2011 and 2012?

a¥ 2010, 2011 AT 2012 F T & ToTEd & ol AT (F5 T. ) FAT 82

Options:

1) 910

2) 930

3) 950

4) 1020

Correct Answer: 930

Candidate Answer: 930
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QID: 123 -

Staff Selection Commision

The bar graph given below represents the revenue of
a firm for 8 years. All the revenue figures have been
shown in terms of Rs crores.

g Ru or gvs R # 15 &F ¥ 8 Tuf F TILT
Fr RTAT TAT E TSIET F T Hes B T A

Zomar o €

400 -
350 -
300 ~
250 ~
200 +
150 ~
100 ~

50 4

300

Revenue (InRs crores)
WorEd (H3 3. #)

260

350

320

250

340

240

280

0 r
2009

2011

2013

Year / a¥

2015

By what percentage has the revenue of the firm decreased in 2010 with respect to the last year?

aﬁzomﬁmaﬁ@rg&mﬁw&%mﬁﬁmﬁqﬁnmﬁwﬁgp

Options:
1) 15.38

2) 14.44
3) 11.11

4) 13.33
Correct Answer: 13.33
Candidate Answer: 14.44
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QID: 124 -

Staff Selection Commision

The bar graph given below represents the revenue of
a firm for 8 years. All the revenue figures have been
shown in terms of Rs crores.

g Ru or gvs R # 15 &F ¥ 8 Tuf F TILT
Fr RTAT TAT E TSIET F T Hes B T A

Zomar o €

400 -
350 -
300 ~
250 ~
200 +
150 ~
100 ~
50 4
0

300

Revenue (InRs crores)
WorEd (H3 3. #)

260

350

320
250

340

240

280

2009

2011

2013
Year / a¥

2015

In how many years, the revenue of the firm is less than the average revenue for these 8 years?

fohcter auf &, heT &7 ToTET 3T 8 I8 o 31T ToTET & el 87

Options:

1)3

2)4

3)5

4)6

Correct Answer: 4
Candidate Answer: 3
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QID: 125 -

The bar graph given below represents the revenue of
a firm for 8 years. All the revenue figures have been
shown in terms of Rs crores.

g Ru or gvs R # 15 &F ¥ 8 Tuf F TILT
Fr RTAT TAT E TSIET F T Hes B T A
Zomar o €

400
350 -
300
250
200
150
100
50
0 r r .
2009 2011 2013 2015

Year / a¥

350 340
300 ] 320 M

280
25l 250 || 240 [

Revenue (InRs crores)
WorEd (H3 3. #)

In which year the firm has shown maximum percentage increase in its revenue with respect to the previous year?

o ¥ 3 o & o # a1 a¥ AT or F FalTfew gfawrd 1 9fE g% o7

Options:
1) 2011

2) 2014
3) 2016

4) All are equal

Fofy s &

Correct Answer: 2014

Candidate Answer: [ NOT ANSWERED ]

QID : 126 - If diagonals of a rhombus are 12 cm and 16 cm, then what is the perimeter (in cm) of the rhombus?

I, el Feraqeler & fawot 12 Q.. ar 16 Q.. §, aF 39 Teraqelst w1 aReT (F.a0, ) 21 g2

Options:
1) 20

2) 40
3) 60

4) 80
Correct Answer: 40
Candidate Answer: [ NOT ANSWERED ]

QID : 127 - Three spherical balls of radius 2 cm, 4 cm and 6 cm are melted to form a new spherical ball. In this process there is a loss of 25% of the material. What
is the radius (in cm) of the new ball?

et el FoieTehr Pisand 2 A, 4 A Jur 6 QA B, Y TR Teh 47 el ST ST 81 $6 kT & 25% Yerd &7 Jdre g1 Sfel §1 w70 el B2 (.2
) FaT 8?
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Options:
1)6

2)8
3) 12

4) 16
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

QID : 128 - The ratio of curved surface area of two cones is 1 : 8 and the ratio of there slant heights is 1 : 4. What is the ratio of the radius of the two cones?

&l 23T & Tk Y5S & &Il T AT 1 : 8 B TUT SeTehl ToST ST T AT 1 : 4 §| 2=l p3il & T ol Jefara F#ar ¢ ?
Options:

1)1:1

2)1:2

3)1:4

4)1:8

Correct Answer: 1 : 2

Candidate Answer: [ NOT ANSWERED ]

QID : 129 - The perimeter of base of a right circular cone is 44 cm. If the height of the cone is 24 cm, then what is the curved surface area (in cm?) of the cone?

T oS gecid A% F ITUR T IRAT 44 J.4. & I 2 Y Feg 24 a4, %,a’reig:a:ra%fgw&'ermw(ﬁ.zﬁ.z #) Fa7 grem?

Options:
1) 550
2) 1100
3) 2200
4) 650

Correct Answer: 550
Candidate Answer: [ NOT ANSWERED ]

QID : 130 - A cuboid which sides 6 cm, 9 cm and 32 cm'is melted to form-a-new cube. What is the ratio between the total surface area of the cuboid and that of
the cube?

T G Forgeht o7y 6 AL, O H.AHL. T 32 A, %,ﬁﬁmmwmmmm%lmmméwwmwwwwé?

Options:

1)93:71

2)108: 113

3) 297 : 220

4)89:72

Correct Answer: 89 : 72

Candidate Answer: [ NOT ANSWERED ]

QID : 131 - When a = 61, b = 63 and ¢ = 65, then what is the value of a3 + b3 + ¢ - 3abc?

Sga=61,b=63dUTc=658 dras + b3+ c3 - 3abc I Al FT gI?
Options:

1) 1456

2) 2268

3) 4536

4) 5460
Correct Answer: 2268
Candidate Answer: [ NOT ANSWERED ]

QID: 132 - If x = 3 - 22, then Vx + (1/VXx) is equal to .

afg x =3-2v2§, ar vVx + (1/Vx) & AT gl
Options:

1)0

2)1

3)2

4) 2v/2

Correct Answer: 2V2

Candidate Answer: [ NOT ANSWERED ]
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QID: 133 -
1 3 1331 1 §
eeZ el zAsE 3Rl e
X 4 7 "
+ + .
x+1 y+2 z+2662

If

value of

1 3 1331 1
x+2 y+3 z+1331 3 &
X 4 Z

bl HTel <FT ?
Xx+1 y+2 " z+2662 i

Options:
1)0

2)1
3) 3/2

4)3
Correct Answer: 3/2
Candidate Answer: [ NOT ANSWERED ]

QID: 134 -

il

?
x+1?
X

for x = 0, then what is the value of

B~

ofgx>0 & F™m x2+i=za‘r, ar ¥+ & Hw
x> A X
FT &2
Options:
1)2
2) V15/2
3) V5

4)V3
Correct Answer: V15/2
Candidate Answer: [ NOT ANSWERED ]

QID: 135-

2
If x + ¥y + z=0, then what is the value of X—+£+i?
VZ XZ XY

2
g x+y+2z=0 @, a X—+ﬁ+i T AT T 7
YZ xz Xy

Options:
1)0
2)1/3
3)1

4)3
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]
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QID : 136 - What is the ratio of in-radius and circum-radius of an equilateral triangle?

wmgﬁga%ﬁ:ﬁwmmﬁmwwwm?

Options:
1)1:2

2)1:3
3)1:4

4)3:2
Correct Answer: 1 : 2
Candidate Answer: [ NOT ANSWERED ]

QID: 137 - In APQR, 2P : 2Q : R =1 : 3 : 5. What is the value (in degrees) of «R - £P?

MABCH, 2P : 2Q: 2R =1:3:58! 2R - 2P Fr AT (B ) Far &2

Options:
1) 30

2) 80
3) 45

4) 60
Correct Answer: 80
Candidate Answer: [ NOT ANSWERED ]

QID : 138 - A circular wire of length 168 cm is cut and bent in the form of a rectangle whose sides are in the ratio of 5 : 7. What is the length (in cm) of the
diagonal of the rectangle?

168 Q.HY. SIFeTS T Teh Jeclleh X i IS SIIcl § TUT Ueh 37T oh 3R H HIST STl & Toreehl ST T HeJuTel 5 & 7 &1 3 3 faerot I ofeas (.70, #) #2182

Options:
1) V4127

2) V3137
3) V1813

4) V3626
Correct Answer: /3626
Candidate Answer: [ NOT ANSWERED ]

QID : 139 - In AABC, a line parallel to side BCcuts the side AB and AC at points D and E respectively and also point D divide AB in the ratio of 1 : 4. If area of AABC
is 200 cm?, then what is the area (in cm?) of quadrilateral DECB?

AABC #, 8131 BC & FHTAIR Ueh 1@, i1 AB 7T AC &1 el fdeg D T E 9Y hrechl § a1 f[deg D 85T AB &1 1 : 4 & 3fefurdl & died &1 TS AABC T alathel 200
{.71.2 §, A Tge]s DECB & 8ther (J.71.2 ) foreretr gram?

Options:
1) 192

2)50
3) 120

4) 96
Correct Answer: 192
Candidate Answer: [ NOT ANSWERED ]
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QID: 140 -
In the given figure, PB is one-third of AB and BQ is
one-third of BC. If the area of BPDQ is 20 cm?, then
what is the area (in cm?) of ABCD?

& 7% HpTa A, PB, AB@T Ueh TIEE & 9T BQ,
BC @& e faes &1 afs BPDQ & &9%er 20
FA2 & a1 ABCD & &19%al (@.A.2 H)

gram?
A P B
fl/l’,
i —Q
P =
~ e
e
D C
Options:
1) 45
2) 30
3) 40
4) 60

Correct Answer: 60
Candidate Answer: [ NOT ANSWERED ]

QID: 141 -

If secB= % and B is acute, then what is the value of

{Q;‘cote +tane}?
ofg sece=% AT 6 FYETRIOT &, (ot + tane]

& AT FIT &7

Options:

1)
13
2115

2)

12

213

3)

13
25

4)

L]
13
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Correct Answer:

13

2115

Candidate Answer: [ NOT ANSWERED ]

QID: 142-

If (1+tan” ) =% and B is acute, then what is the

value of (Jsine + cose}?

Tfg (1+ tan? ep% AT B FIHIOT §, A
(,,ﬂsine +cose] T A FAT 87

Options:
1)1

2)
D 31

4 Y42

3)

/31

5

4)5/7
Correct Answer:

NEY

5

Candidate Answer: [ NOT ANSWERED ]

QID : 143 - If sin 8 + sin2 @ = 1, then what is the value of (cos'2 6+ 3 cos® 8 + 3 cos8 6 + cos® 6 - 1)?

I sin B +sin2 0 =18, ar (cos!2 6 + 3 cosl08 + 3 cos® 6 + cosb B - 1) &1 AT FAT&?

Options:
1)-1

2)0
3)1

4)2
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]
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QID: 144 -
If cotB=-/11 and B is acute, then what is the value

I (f:osec2 8 + sec’ B]
& :

(003902 8 — sec’ 8] -

I cot8=-11 TUT 6 =geTerioT &, At

(cmsec2 8 + sec? S} e %?

(cc:se-:2 8 — sec’ B}
Options:
1) 2/3
2) 6/5
3) 3/4

4)7/6
Correct Answer: 6/5
Candidate Answer: [ NOT ANSWERED ]

QID: 145 -

cosB  cos® _
1+sin® 1-sin®
what is the value (in degrees) of 67

cosB c0588=2\frz—, SUT B sgEETE, ot

1+sinB  1-sin

8 &1 AT (fZaft H) == &2

2@ and B is acute, then

Options:
1) 30

2) 45
3) 60

4) 90
Correct Answer: 45
Candidate Answer: [ NOT ANSWERED ]
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QID : 146 -
The given pie chart shows the distribution (in

degrees) of cars sold of different models by a
company in 2015-16.

fer omr g9 =¥ & 9% 2015-16 & wF Fur /T
ffdes ver fr = & T5H F Taor (@ &)
@ g=ITT TR ¥

If the number of cars sold of model D is 40500, then how many more cars of model E are sold than that of A?

e D YR F SRT Y fahr i TE&=T 40500 &, A E TP ST ShRYT h foshr, A I i 31fae 87

Options:
1) 8100

2) 16200
3) 24300

4) 13500
Correct Answer: 13500
Candidate Answer: [ NOT ANSWERED ]
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QID: 147 -
The given pie chart shows the distribution (in

degrees) of cars sold of different models by a
company in 2015-16.

fer omr g9 =¥ & 9% 2015-16 & wF Fur /T
ffdes ver fr = & T5H F Taor (@ &)
@ g=ITT TR ¥

If the number of cars sold of model D is 40500, what is the ratio between the number of cars sold of model D and E?

I D Yo T FHRT T TarshT T FEAT 40500 &, Al D TAT E TR hT FHRT T {SIshT hr HEAT T 1eTdTel 167

Options:
1)9:5

2)6:5
3)11:9

4)9:7
Correct Answer: 6 : 5
Candidate Answer: [ NOT ANSWERED ]
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QID: 148 -
The given pie chart shows the distribution (in

degrees) of cars sold of different models by a
company in 2015-16.

fer omr g9 =¥ & 9% 2015-16 & wF Fur /T
ffdes ver fr = & T5H F Taor (@ &)
@ g=ITT TR ¥

If the number of cars sold of model D is 72900, then what is the total number of cars sold of all the models together by the company?

uﬁDwﬁmﬁﬁﬁrﬁﬁanoo%‘,aTMqam%ﬁr@r?réqaﬁwﬁmﬁgmmﬁm?ﬁ%?

Options:
1) 291600

2) 208100
3) 162000

4) 214160
Correct Answer: 291600
Candidate Answer: [ NOT ANSWERED ]
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QID: 149 -
The given pie chart shows the distribution (in

degrees) of cars sold of different models by a
company in 2015-16.

fer omr g9 =¥ & 9% 2015-16 & wF Fur /T
ffdes ver fr = & T5H F Taor (@ &)
@ g=ITT TR ¥

If number of cars sold of model C are 22000, then what will be the difference in the number of cars sold of model A and B?

Ife C yhR T FRI Fr fashr ST F=Ar 22000 8, dF A TAT B YR T RY T Sshr Hr T&ar 7 37cR F41 gleme?

Options:
1) 800

2) 1200
3) 1000

4) 1500
Correct Answer: 1000
Candidate Answer: [ NOT ANSWERED ]
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QID : 150 -
The given pie chart shows the distribution (in

degrees) of cars sold of different models by a
company in 2015-16.

fer omr g9 =¥ & 9% 2015-16 & wF Fur /T
foffea R fir FRt fr ffr & fogor (e &)
@ g=ITT TR ¥

If 5% of the total number of cars sold of model E is 750, then what is the average number of cars sold of all the models?

?:l%EW@W@TW@@W@WWSqﬁ?m750%,mmﬂmaﬁrm£rﬁﬁrﬁmwaﬁmw%?

Options:
1) 15000

2) 14400
3) 16800

4) 14000
Correct Answer: 14400
Candidate Answer: [ NOT ANSWERED ]

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error':

Can you imagine (1)/ that she has thirty (2)/ five pair of shoes. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Mr. Gupta with his wife (1)/ and younger brother (2)/ were present at the station. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 1

QID : 153 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Rajni is planning to settle (1)/ in Mumbai as soon as (2)/ she retires in August the next year. (3)/ No Error (4)
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Options:

1)1

2)2

3)3

4)4

Correct Answer: 3
Candidate Answer: 3

QID : 154 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I was born (1)/ on 14th July, 1990 (2)/ in Allahabad. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 3

QID : 155 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Not only we saw (1)/ the President but also (2)/ the Chief Minister of Delhi. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 156 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Cancer has long been identified as a silent kilier because the patient has no of the danger freely invading his system.
Options:

1) information

2) traversing

3) inkling

4) strategy

Correct Answer: information

Candidate Answer: [ NOT ANSWERED ]

QID : 157 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He gave me an additional
Options:

1) pay

2) salary

3) allowance

4) perquisites

Correct Answer: allowance
Candidate Answer: allowance

of Rs 800 a month by permission of the manager.

QID : 158 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Virat Kohli another feather to his cap by his wonderful performance in the T20 World Cup.
Options:

1) took

2) created

3) added

4) captured

Correct Answer: added
Candidate Answer: added

QID : 159 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The assistant manager decided to resign when she was for promotion to deputy manager.
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Options:

1) passed over
2) passed off
3) passed by
4) passed out

Correct Answer: passed over
Candidate Answer: passed over

QID : 160 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

If Neha persists in telling lies to me I shall sue her slander.
Options:

1) of

2) on

3) for

4) to

Correct Answer: for

Candidate Answer: for

QID : 161 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Epitome

Options:

1) type

2) extension

3) ruddy

4) lively

Correct Answer: type

Candidate Answer: [ NOT ANSWERED ]

QID : 162 - In the following question, out of the four alternatives, select the word similar in meaning-to the word given.

Spurious
Options:
1) bitter
2) gloomy
3) fake
4) dumb

Correct Answer: fake
Candidate Answer: [ NOT ANSWERED ]

QID : 163 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Invincible

Options:

1) declaiming

2) perplexing

3) uninspiring

4) unbeatable

Correct Answer: unbeatable

Candidate Answer: unbeatable

QID : 164 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Trepidation

Options:

1) disastrous

2) exaggerate

3) nervousness

4) ephemeral

Correct Answer: nervousness

Candidate Answer: [ NOT ANSWERED ]

QID : 165 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Wastrel
Options:

1) disingenuous
2) spendthrift
3) hard work
4) dubious
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Correct Answer: spendthrift
Candidate Answer: [ NOT ANSWERED ]

QID : 166 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Acknowledge
Options:

1) compliant
2) bent

3) deny

4) defeat

Correct Answer: deny
Candidate Answer: compliant

QID : 167 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Abstain

Options:

1) pursue

2) ignore

3) create

4) fail

Correct Answer: pursue
Candidate Answer: pursue

QID : 168 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Barbarous

Options:

1) accidental

2) constant

3) civilized

4) downward

Correct Answer: civilized

Candidate Answer: [ NOT ANSWERED ]

QID : 169 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Callow
Options:

1) secretive

2) immoral

3) belated

4) sophisticated

Correct Answer: sophisticated
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Eulogistic

Options:

1) annoying

2) rigidity

3) rationality

4) critical

Correct Answer: critical

Candidate Answer: [ NOT ANSWERED ]

QID : 171 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

At variance with

Options:

1) In one time

2) In opposite

3) In any way

4) Sometimes

Correct Answer: In opposite

Candidate Answer: In opposite
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QID : 172 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

A snake in the grass
Options:

1) A coward

2) A treacherous person
3) A friendly person

4) An honest person

Correct Answer: A treacherous person
Candidate Answer: A treacherous person

QID : 173 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Bolt from the blue

Options:

1) A source of quarrel
2) Narrow escape

3) A sudden calamity
4) To take revenge

Correct Answer: A sudden calamity
Candidate Answer: [ NOT ANSWERED ]

QID : 174 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.
Cry in the wilderness

Options:

1) Rebuke

2) Confused and lost

3) Aggravate the situation

4) Unpopular opinion

Correct Answer: Unpopular opinion

Candidate Answer: Confused and lost

QID : 175 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

On the brink of
Options:

1) To be alert

2) To be near to
3) Not at all

4) Occasionally

Correct Answer: To be near to
Candidate Answer: To be near to

QID : 176 - Improve the bracketed part of the sentence.

Before I met Sakshi, I (had had) a bad opinion of her.
Options:

1) have had

2) had

3) did have

4) no improvement

Correct Answer: no improvement
Candidate Answer: have had

QID : 177 - Improve the bracketed part of the sentence.

The girl (told her teacher) to explain the passage.
Options:

1) said to her teacher

2) asked her teacher

3) called her teacher

4) no improvement

Correct Answer: asked her teacher
Candidate Answer: asked her teacher

QID : 178 - Improve the bracketed part of the sentence.

It will take four hours to walk (across) the caves.
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Options:

1) over

2) through

3) between

4) no improvement

Correct Answer: through
Candidate Answer: through

QID : 179 - Improve the bracketed part of the sentence.

When I lived in Kanpur I (was going) for movie once a week.
Options:

1) used to go

2) had gone

3) went

4) no improvement

Correct Answer: used to go
Candidate Answer: used to go

QID : 180 - Improve the bracketed part of the sentence.

Abhishek was going to the church (then Neha came on to) meet him.
Options:

1) when Neha was coming to

2) before Neha was coming to

3) when Neha came to

4) no improvement

Correct Answer: when Neha came to
Candidate Answer: when Neha came to

QID : 181 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Being unable to pay one's debt
Options:

1) partisan

2) bohemian

3) ascetic

4) insolvent

Correct Answer: insolvent
Candidate Answer: [ NOT ANSWERED ]

QID : 182 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Government by officials in a state
Options:

1) aristocracy

2) bureaucracy

3) dictatorship

4) plutocracy

Correct Answer: bureaucracy
Candidate Answer: bureaucracy

QID : 183 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Which can be rooted out
Options:

1) eradicable

2) internment

3) animism

4) incorrigible

Correct Answer: eradicable
Candidate Answer: eradicable

QID : 184 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Which can easily be carved without breaking
Options:

1) reformism

2) cannibal

3) interment

4) flexible

Correct Answer: flexible
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Candidate Answer: [ NOT ANSWERED ]

QID : 185 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A garland of flowers
Options:

1) bouquet

2) wreath

3) virago

4) rabble

Correct Answer: wreath

Candidate Answer: [ NOT ANSWERED ]

QID : 186 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.

Options:

1) accountancy
2) accummulate
3) acquaintance
4) affectionate

Correct Answer: accummulate
Candidate Answer: accummulate

QID : 187 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.

Options:

1) battalian

2) sufficient

3) tremendous

4) vaccination

Correct Answer: battalian

Candidate Answer: battalian

QID : 188 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.

Options:

1) essential

2) anihilation

3) emission

4) erroneous

Correct Answer: anihilation

Candidate Answer: anihilation

QID : 189 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.

Options:

1) tranquillize

2) transmission

3) tremendeus

4) thunderous

Correct Answer: tremendeus

Candidate Answer: tremendeus

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.

Options:

1) ulterior

2) theoretical

3) vermilion

4) amileorate

Correct Answer: amileorate

Candidate Answer: [ NOT ANSWERED ]

QID : 191 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given

blank out of the four alternatives.

Blessed is the man or woman into whose life has come the beauty and power of such a . Prize it well. Do all in your to keep such a friendship unbroken.
Avoid the , for when it comes it cannot be and the jarring note mars the harmony. It is not alone a question of that may be full and complete. It is

the hurt in the heart that will not readily heal and the confidence that will not fully come back.

Blessed is the man or woman into whose life has come the beauty and power of such a
Options:

1) knowledge

2) friendship

3) brotherhood

4) relationship
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Correct Answer: friendship
Candidate Answer: friendship

QID : 192 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Blessed is the man or woman into whose life has come the beauty and power of such a . Prize it well. Do all in your to keep such a friendship unbroken.
Avoid the , for when it comes it cannot be and the jarring note mars the harmony. It is not alone a question of that may be full and complete. It is
the hurt in the heart that will not readily heal and the confidence that will not fully come back.

Do all in your to keep such a friendship unbroken.
Options:

1) power

2) deeds

3) success

4) resources

Correct Answer: power

Candidate Answer: power

QID : 193 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Blessed is the man or woman into whose life has come the beauty and power of such a . Prize it well. Do all in your to keep such a friendship unbroken.
Avoid the , for when it comes it cannot be and the jarring note mars the harmony. It is not alone a question of that may be full and complete. It is
the hurt in the heart that will not readily heal and the confidence that will not fully come back.

Avoid the ,

Options:

1) break

2) consequences

3) disturbances

4) irrationality

Correct Answer: break

Candidate Answer: [ NOT ANSWERED ]

QID : 194 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Blessed is the man or woman into whose life has come the beauty and power of such a . Prize it well. Do all in your to keep such a friendship unbroken.
Avoid the , for when it comes it cannot be and the jarring note mars the harmony. It is not alone.a question.of that may: be full and complete. It is
the hurt in the heart that will not readily heal and the confidence that will not fully come back.

for when it comes it cannot be and the jarring note mars the harmony.
Options:

1) treated

2) build

3) mended

4) eradicated

Correct Answer: mended
Candidate Answer: [ NOT ANSWERED ]

QID : 195 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Blessed is the man or woman into whose life has come the beauty and power of such a . Prize it well. Do all in your to keep such a friendship unbroken.
Avoid the , for when it comes it cannot be and the jarring note mars the harmony. It is not alone a question of that may be full and complete. It is
the hurt in the heart that will not readily heal and the confidence that will not fully come back.

It is not alone a question of that may be full and complete.
Options:

1) conflict

2) silence

3) inadversity

4) forgiveness

Correct Answer: forgiveness

Candidate Answer: [ NOT ANSWERED ]
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QID : 196 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Science and religion — the two terms have come to signify a mutual antagonism. The two, it is commonly declared, are poles apart; their spheres of activity and their
methods differ widely, so much so that they are considered to be irreconcilable.

On the face of it, science and religion appear to be the two opposite poles of man's consciousness. Science is basically concerned with the material world; its efforts
are directed towards unraveling the “how” of reality while religion is concerned with the “why” of reality. Science deals with analyzing tangible entities into its
minutest parts, and then arrives at conclusions about the way in which tangible realities are organized. While science is analytical, religion takes the ultimate reality
for granted. Religion follows the metaphysical path; the concept of God is ultimately a matter of faith and it is this faith which is the basis of the religious man's
attribution of a design or meaning for the reality.

The modes of action are different in science and religion. Science relies on experiment, whereas religion is based on experience. Any religious experience, whether it
is Christ's or Ramakrishna's, is personal and subjective. Science, on the other hand, is marked by objectivity. Theory has to be corroborated by tangible proof.
Science benefits mankind by providing material comforts. The frontiers of science do not end in knowledge but are extended to the formation of appliances for actual
use. Science, it has been somewhat unfairly charged, cultivates the materialistic thinking. However, it has to be admitted that the mental attitude promoted by
religion is entirely different, while the basis of scientific progress is unbridled curiosity and courageous endeavour, the truly religious spirit cavils at such presumption
that man's mind can penetrate the mysteries of the universe. Science promotes fearless inquiry while an essential ingredient of religion is the humility born of fear of
God. Science incorporates a love of experimental knowledge, while religion does not believe in the rational approach.

What do you mean by the word 'antagonism'?
Options:

1) co-related

2) conflicting

3) harmony

4) sympathy

Correct Answer: conflicting

Candidate Answer: conflicting

QID : 197 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Science and religion — the two terms have come to signify a mutual antagonism. The two, it is commonly declared, are poles apart; their spheres of activity and their
methods differ widely, so much so that they are considered to be irreconcilable.

On the face of it, science and religion appear to be the two opposite poles of man's consciousness. Science is basically concerned with the material world; its efforts
are directed towards unraveling the “how” of reality while religion is concerned with the “why" of reality. Science deals with analyzing tangible entities into its
minutest parts, and then arrives at conclusions about the way in which tangible realities are organized. While science is analytical, religion takes the ultimate reality
for granted. Religion follows the metaphysical path; the concept of God is ultimately a matter of faith and it is this faith which is the basis of the religious man's
attribution of a design or meaning for the reality:

The modes of action are different in science and religion. Science relies on experiment, whereas religion is based on experience. Any religious experience, whether it
is Christ's or Ramakrishna's, is personal and subjective. Science, on the other hand, is marked by objectivity. Theory has to be corroborated by tangible proof.
Science benefits mankind by providing material comforts. The frontiers of science do not end in knowledge but are extended to the formation of appliances for actual
use. Science, it has been somewhat unfairly charged, cultivates the materialistic thinking. However, it has to be admitted that the mental attitude promoted by
religion is entirely different, while the basis of scientific progress is unbridled curiosity and courageous endeavour, the truly religious.spirit cavils at such presumption
that man's mind can penetrate the mysteries of the universe. Science promotes fearless inquiry while an essential-ingredient of religion is the humility born of fear of
God. Science incorporates a love of experimental knowledge, while religion does not believe in the rational approach.

Why science and religion are considered to be irreconcilable?
Options:

1) Both relates to the present world

2) Both arrives to conclusions in which tangible realities are organized
3) Both differs in their spheres of activity and methods

4) Modes of actions of both are similar to each other

Correct Answer: Both differs in their spheres of activity and methods
Candidate Answer: Both differs in their spheres of activity and methods

QID : 198 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Science and religion — the two terms have come to signify a mutual antagonism. The two, it is commonly declared, are poles apart; their spheres of activity and their
methods differ widely, so much so that they are considered to be irreconcilable.

On the face of it, science and religion appear to be the two opposite poles of man's consciousness. Science is basically concerned with the material world; its efforts
are directed towards unraveling the “how” of reality while religion is concerned with the “why” of reality. Science deals with analyzing tangible entities into its
minutest parts, and then arrives at conclusions about the way in which tangible realities are organized. While science is analytical, religion takes the ultimate reality
for granted. Religion follows the metaphysical path; the concept of God is ultimately a matter of faith and it is this faith which is the basis of the religious man's
attribution of a design or meaning for the reality.

The modes of action are different in science and religion. Science relies on experiment, whereas religion is based on experience. Any religious experience, whether it
is Christ's or Ramakrishna's, is personal and subjective. Science, on the other hand, is marked by objectivity. Theory has to be corroborated by tangible proof.
Science benefits mankind by providing material comforts. The frontiers of science do not end in knowledge but are extended to the formation of appliances for actual
use. Science, it has been somewhat unfairly charged, cultivates the materialistic thinking. However, it has to be admitted that the mental attitude promoted by
religion is entirely different, while the basis of scientific progress is unbridled curiosity and courageous endeavour, the truly religious spirit cavils at such presumption
that man's mind can penetrate the mysteries of the universe. Science promotes fearless inquiry while an essential ingredient of religion is the humility born of fear of
God. Science incorporates a love of experimental knowledge, while religion does not believe in the rational approach.

According to the passage which of the following statement is INCORRECT?
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Options:

1) science analysis tangible entities

2) religion is concerned with the 'why' of reality
3) religion follows the metaphysical faith

4) science is based on experience

Correct Answer: science is based on experience
Candidate Answer: science is based on experience

QID : 199 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Science and religion — the two terms have come to signify a mutual antagonism. The two, it is commonly declared, are poles apart; their spheres of activity and their
methods differ widely, so much so that they are considered to be irreconcilable.

On the face of it, science and religion appear to be the two opposite poles of man's consciousness. Science is basically concerned with the material world; its efforts
are directed towards unraveling the “how” of reality while religion is concerned with the “why” of reality. Science deals with analyzing tangible entities into its
minutest parts, and then arrives at conclusions about the way in which tangible realities are organized. While science is analytical, religion takes the ultimate reality
for granted. Religion follows the metaphysical path; the concept of God is ultimately a matter of faith and it is this faith which is the basis of the religious man's
attribution of a design or meaning for the reality.

The modes of action are different in science and religion. Science relies on experiment, whereas religion is based on experience. Any religious experience, whether it
is Christ's or Ramakrishna's, is personal and subjective. Science, on the other hand, is marked by objectivity. Theory has to be corroborated by tangible proof.
Science benefits mankind by providing material comforts. The frontiers of science do not end in knowledge but are extended to the formation of appliances for actual
use. Science, it has been somewhat unfairly charged, cultivates the materialistic thinking. However, it has to be admitted that the mental attitude promoted by
religion is entirely different, while the basis of scientific progress is unbridled curiosity and courageous endeavour, the truly religious spirit cavils at such presumption
that man's mind can penetrate the mysteries of the universe. Science promotes fearless inquiry while an essential ingredient of religion is the humility born of fear of
God. Science incorporates a love of experimental knowledge, while religion does not believe in the rational approach.

Which of the following reason provided material comforts to people in case of science?
Options:

1) the subjectivity of science

2) tangible proofs of the theories of science

3) materialistic thinking being cultivated by science

4) promotion of fearless inquiry by science

Correct Answer: tangible proofs of the theories of science
Candidate Answer: tangible proofs of the theories of science

QID : 200 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Science and religion — the two terms have come to signify a mutual antagonism. The two, it is commonly declared, are poles apart; their spheres of activity and their
methods differ widely, so much so that they are considered to be irreconcilable.

On the face of it, science and religion appear to be the two opposite poles of man's consciousness. Science.is basically.concerned with the material world; its efforts
are directed towards unraveling the “how” of reality while religion is concerned with the “why” of reality. Science deals with analyzing tangible entities into its
minutest parts, and then arrives at conclusions about the way in which tangible realities are organized. While science is analytical, religion takes the ultimate reality
for granted. Religion follows the metaphysical path; the concept of God is ultimately a matter of faith and it'is this faith which is the basis of the religious man's
attribution of a design or meaning for the reality.

The modes of action are different in science and religion. Science relies on experiment, whereas. religion-is-based on experience. Any religious experience, whether it
is Christ's or Ramakrishna's, is personal and subjective. Science; on the other hand, is marked by objectivity. Theory has to be corroborated by tangible proof.
Science benefits mankind by providing material'comforts. The frontiers of science do not end in knowledge but.are extended to the formation of appliances for actual
use. Science, it has been somewhat unfairly charged, cultivates the materialistic thinking. However, it has to be admitted that the mental attitude promoted by
religion is entirely different, while the basis of scientific progress is unbridled curiosity and courageous endeavour, the truly religious spirit cavils at such presumption
that man's mind can penetrate the mysteries of the universe. Science promotes fearless inquiry while an essential ingredient of religion is the humility born of fear of
God. Science incorporates a love of experimental knowledge, while religion does not believe in the rational approach.

What can be the suitable title for the passage?
Options:

1) Science and Religion — Possibility of Reconcile
2) Science is better than Religion

3) Religion is better than Science

4) Science and Religion

Correct Answer: Science and Religion
Candidate Answer: Science and Religion
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